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1. |x+5] =210 33
If [x+5]2>10 then
(A) xe (-15,5]
(A) xe€ (-15,5]
(B) xe (-5,5]
(B -5,5
Sl d (©) x€ (~oo,—15] U [5, o)
(€ x€ (e, ~ 151 U5, =) (D) x€ [-o0,~15] U [5, )
(D) x€ [-%,-15] U [5, =)
de koo b es s g | 2 2OR0 8ABBODODE Doley, gaty
verybody in a room shakes hands wit - NS ol
everybody else. The total number of mé@v%%éﬁ sﬁ@ﬁdds&@em@-ﬁ' %“é“’%
handshakes is 45. The total number of TIPRNG  Roxf, 45 &3S
persons in the room is 20BE0HOTIR 20833 BN o ‘93; o3
[ae) e D=2 1
A 9 A) 9
(B) 10 B) 10
(C) 5 (C) 5
(D) 15 (Ll L
The constant term in the expansion of G
[x2 1 )16 - 3. (X2 - i) 3 omdne, @of @3
= —2 1S X2 -
X
(eﬂqﬁm 0 I ) )|
s @A) 16c,
16
ey B) 6c,
16 16
© TG €y ¢,
16 16
(D) Cyo @) ¢y,
Space for Rough Work / 2.8 3033* 3@%‘3
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If P(n): “2?™ _ 1 is divisible by k for all

n € N” is true, then the value of k’ is
A) 6
B) 3
©c 7
D 2
'The equation of the line parallel to the
line 3x — 4y + 2 = 0 and passing through
(-2,3)is
(A) 3x-4y+18=0
(B) 3x-4y-18=0
(C) 3x+4y+18=0
D) 3x+4y-18=0
1-i

96
If (——J = a+1ib then(a,b)is
1+

A 1,1
B) (1,0
© ©,1

D) (0,-1)

Pm): 2" -1,k 03 PNIORZS
V ne N”. 8 398 duonss k o 23
A) 6

B) 3

© 7

D) 2

3% — 4y + 2 = 0 Bea3rt ISPRT0ITONT),
VDB (-2, 3) WORAI RROB  Towd
BRENIT ATPTeF03 FAEBTEIR)

(A) 3x-4y+18=0

(B) 8x-4y-18=0

(C) 8x+4y+18=0

D) 3x+4y-18=0

1—; 96
(_;‘J = a+ib 803 (a, b) I B33

1+13

A @Q,1
B) 1,0
© o1

D) (0,-1)
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The distance between the foci of a
hyperbola is 16 and its eccentricity is v/2 .
Its equation is

A) x2-y?=32

The number of ways in which 5 girls and
3 boys can be seated in a row so that no
two boys are together is

(A) 14040
(B) 14440
(C) 14000

(D) 14400

If a, b, ¢ are three consecutive terms

20D FTOWRT PR SBDS
©030Y 16 X ©FT evdeonBodd V2
BSNTTY, ST0 BA0eFTE)

A x2-y?=32

X2
4
©C) 2x2-3y%=7
D) y?-x2=32

2
A
(B) 5 1

5 TORONOITO BF 3 BORONT, Wwomd
WO BRORIFNT cARPhe TR
RN ekt A0ToF  w[OR
BRORWBITE 2.8 AN Rosg

(A) 14040

(B) 14440

(C) 14000

(D) 14400

a, b, ¢ REb AP 0300530€), BTN W
Bet TERENE), ToRD x, 3, z N GP

of an AP and x, y, z are three 3RoTBE  FEowoN  wWARB B
consecutive terms of a GP, then the value : b-— -a -b
of ¢, yo-a_ b ig ) ﬁdﬁ%ﬁ%ﬁx €. y°T2L 2270 38odw
A 0 A o
B) =xyz (B) xyz
(S © -1
D) 1 o 1
Space for Rough Work / LT 30#% %%‘3
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10.

11.

12,

The value of Lm Ij—{—l 1s

x>0 X
@A 1
B -1
€ o
(D) Does not exist

Let fx)=x— l then f'(-1)is
x

A o
B) 2
€ 1

D) -2

The negation of the statement “72 is
divisible by 2 and 3” is

10.

11.

12.

tim X! oz e

- x>0 X

Aa 1
B -1
@€ 0

D) BRIBODOE,

[3¢)

fx) = x— L 38 £(=1) 030
X

A) 0
B) 2
© 1

D) -2

“72 @0 Rododn 2 FF 3 0B

PONIORIRT.” BePEOR TTTD)

(A 72 73033:8033‘) 2 Do
PNROBRRY, WFT 72 QOW
R0a3,0300 3 00T FPNIVBROY,

0W

(A) 72 is not divisible by 2 or 72 is not
divisible by 3 B) 72 o0 Rogfodn 2 (olelm
ey " T PNRORIBE BT T2 Q0
(B) 72 is divisible by 2 or 72 is divisible *
by 3 R033,0300 3 DOT PONIVBIZTS
© 72 @ow RoKokn 2 o33
(C) (’712» 1sbld:1s1ble by 2 and 72 is | PNROBBE BB 72 20w #095;0333
« v s 3 o) -
e 3 003 PPNRORIS
(D) 72 is not divisible by 2 and 3 D) 72 20w ,-3035;3 o3 2 23 3 008
PNIORBR O,
Space for Rough quk | 2083 3033* 3
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13. The probability of happening of an event

A is 0-5 and that of B is 0-3. If A and B
are mutually exclusive events, then the
probability of neither A nor B is

13.

PRI A 030 Rogdweoddd 0-5 B0 PeIF
B o Roy@decdsd 0-3 sn@), A 3023 B
n¥o@der @038 BT PuSHenT.
A Sp 993, B I $0T 3053me033030

(A) 04
A) 04
(B) 05 (B) 05
(C) 02 C 02
(D) 09
(D) 09
14. In a simultaneous throw of a pair of dice, 14. aoéme)de; QOB m#r{ejﬁi eD_R?OdJQEﬂZS.‘
the probability of getting a total more Gaplaniale] 28, By 7 3038 ézﬁ%
o G BRBOHWRITE FormRecdxdodn
: 7
@ — K
) 12 (A) 12
5 5
ok B =
& 36 (&) 36
5
5 ¢ —=
©) 12 12
D) —
ale 36
) 36
15. If A and B are mutually exclusive events, | 15. P(A) = i;-, P(B) = % SN, A F3 B
given that PA)= £, P(B) = £, then|  modd sedepd  pudndd  ongd,
P(A or B) is P(A ¢35 B) & @303
(a) 08 A) 08
(B) 06 B) 06
(C) 04 (C) 04
D) 02 D) 02
Space for Rough Work / 2.0t _3@:!3#* A
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16. Let

f,g: R > R be two functions
defined as filx) = |x] + x and
g(x) = |x|] —x V x € R. Then (fog) (x) for

x<0is

16._

2 xe RO, f, g: R > R Qow
QTR Ubéﬁlﬁ%‘fﬁi fx) = |x] + x DR
gx) = |x| - X Q0T %93%@20@71 x<0

(A) 0 nen (fog) (x) 0T
(B) 4x A 0
(C) —4x (B) 4x
(D) 2x (C) -—-4x
D) 2x
17. A is a set ha.vir.lg 6 distin.ct elements. The 17. 70 A oowdd B33 3ed 6 REosnesd
number of distinct functions from A to A ' 5
which are not bijections is BRo0T. A 00T A R Ve FeRsRes
(A) 6!'-6 w3ed 23ed Wéﬁﬁ@ ;:)’035;5
B) 6°-6 @ 6-6
) 6°-8! B) 6°-6
(D) 6! © 65-6
(D) 6!
18. Let f: R — R be defined by . : a3
2x ; x>3
J 18. f:RH>RD flx)=1x2 ; 1<x<3
fx)=1x2 ; 1<x<3 =
l 3x : x<1
2 s el 20T TRAMMGY, f-1) + A2) + £4) I
Then f(-1) + f(2) + f(4) is BeS0300
R A 9
) e B) 14
C b © 5
(D) 10 (D) 10
Space for Rough Work / 2,88 iem%; 29
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19. If sinlx + cos! y= 25_1r , then

cos"1

X +sin~! y is

2n

19. sinlx+ cos! y = = Bﬁ%&

cos 1x+sinly 3 33030

ﬁ ﬁ | 2n 3n
(A) - B) = A = (B) )
4r 3r 4r 3r
©) 3 (D) T ©) s D) 10
20. The value of the expression 1 9
tan(l ) J ) 20. tan[a cos™! —EJ B 33
| = cos™ " — | is
2 J5)
(A) - 2~ /5
A 2-5
®) J5-2 ®) 5 -2
i J5 -2
© Y52 © =
2
D) 5-42 D), 5-2
2 -2 9 9
g n k i
21. If A = - |5 then A = 2 A, 21. A = [ } Qjﬁdb AD = 2kA @dd
-2 2 _9 9 2
where k = k=
(A) 2n_1 (A) 2n—1
B) n+1 B) n+l
Ot (C) n-1
D) 2n-1)
D) 2n-1)
Space for Rough Work / 2,88 %’Oﬁi %%”
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22, If [_1 1] [x] = [2], then the values | 22. [_1 1} [X] = [Z] &8 x A y I

1 1f|y| |4 1 1} |y
of x and y respectively are eS3nsd gesomen
Aa -3,-1 A) -3,-1
®) 1,3 B) 1,3
© 3,1 © 3,1
D) -1,3 »® -1,3
23. If A= [ = P a}, then AA’ = 23. A= [ L “} SE3 AA’ =
—sina cosa -sina cosa
ol s @) A
(B) Zero matrix
(B) 3eg 83
C) A
Cc) A
D 1
2 D) 1

24. If x, y, z € R, then the value of
24. x,y,zc R soon

determinant
(5x +5% )2 (5x - 5—x)2 1 (5X, +5% )2 (5x . 5—X)2 1
6*+67%)2 (6*-6)?% 1| is 6*+67%)2 (6*-6%)? 1| IBS
(TR ) ERS N (e e AN (TR SR (e
A) 10 a) 10
B) 12 B) 12
© 1 © 1
D) 0 D) o

Space for Rough Work / 2,88 3033; s
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25. The value of determinant a-b b+ec a

a-b b+c a 25. |b-a c+a b| JporIsd LISodn

b-a c+a bl is c—a a+b c

c-a a+b ¢
A ad+bd+cd
(A) ad +b% +¢c°

(B) 3abc
(B) 3abc
(C) a3 + b3 + c3 — 3abe (C) 8.3 + b3 + 03 — 3abc
(]j) ad+ b3+ é3 + 3abc D) a3 +1b3+c3+3abe

26. If (x;, v, (Xo, ¥o) and . (x4, y3) are the 26. 2,03 %m%d %or{z{#o (x,, ) (%, ¥y)

vertices of a triangle whose ar;a is k 23 (x4, y5) BN, & & e DYeEaF K
Xy y1 . 4 9
. : x3 y1 4
square units, then [xo yo 4| is
BT DRINGOTT (X9 yo 4| I B3
x3 y3 4
; X3 y3 4
(A) 32k
i A) 32Kk?
® 16k ® 1612
(C) 64Xk2 - C) 64 K2
(D) 48K* (D) 48k?

27. A Q00T 3 x 3 TORPET
BRFEReBTNGS, |5A| =

27. Let A be a square matrix of order 3 x 3,

then |5A| =
(A) 5|A] (A) 5|A]
(B) 125|A| (B) 125|A|
(©) 25|A] ©) I25|A|
(D) 15|A| (D) 15]A|

Space for Rough Work / 2,835 303% g
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28. If

fx) = 1

is continuous at x = 0, then the value of k

is
(A)
(B)

©)

D)

29. If cosy=xcos(a+y) with cosa==x1, |29,

F\'/1+kx—’,\/1—k'x

if

if

J1+kx —,/1-kx

X
~1<x<0 [28. fx)=:
2x +1
x—-1
0<x<1
23e30300
A) k=1
B) k=-1
©C) k=0
D) k=2

if -1<x<0

if O0<x<1

3 x = 0 3O, L0E TRk 3

cos y = x cos (a +y) @03 cos a # + 1 5T

dy . . :
then — is equal to dy 6303
dx = S ;
@ —— sin a
: cos“(a+y) A m—)
' 2
cos“(a+y)
B ———— 20
cosa
€ ——
sin?(a +y) @)
sin?(a +y)
2
cos“(a+y)
D) cosa cos?(a + y)
D)y ———
cosa
Space for Rough Work / 2.0 §038 ¢
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30. If fix) = |cos x — sin x|, then f’(%) is [ 80. f(x) = |cos x—sinx| &won f’(g) S 33
equal to

1
@) -2 1+48)
@ -2 @+3) g 7

1 .
® 1+ 5) ® 2 a+45)

© -2 a-5) © -2 a-45)

1 N
@ 5 1-48) ® - 5)

31. If y=Jx+,'/x+,/x+...°°, then %: 31. Y=JX+ Hx+m ﬁﬁ@ﬁ%:

1
(A) 1
y? -1 (A) o
1 ?
B) —
2y +1 (B) 1
2y +1
(@ =7 3
y -1 | ©) zy
¥y =l
1
c 2y -1 1
©) 5

Space for Rough Work / 2,083 303% :gé
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lcge e

: x#1
32, If fix)=4 x-1 is
k :

continuoué at x = 1, then the value of k is

x=1

(A e ®B 1

© -1 D) 0

33. Approximate change in the volume V of a
cube of side x metres caused by increasing
the side by 3% is

(A) 0-09 x°m3

B 003 x°m?
(© 006x°m?

D) 0-04 x® m®

32.

33.

log x
x-1

flx) =
k : x=1

d@p e@z&ﬁmnz%d, k S B3030

A) e ® 1

© -1 M) o

PIZPOTT B x Qe VAT, O 3%
BWE3 B8 PIPOT VORI

(approﬁmaté) BRSO
(A) 009 x®m3
(B) 0-03x3m?
© 006 x>m?

D) 0-04 x°> m?

84. The maximum value of (l] is 1) [
x 34. (—) S nosg tgan
% ,
(A) e
- (A) e
B) &°
B) ¢°
(C) el/e
©) e
Ve
(D) (1) 1\Ve
€ (D) [—)
e
Space for Rough Work / %8t $0x¢ 3¢
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85. f(x) =x* has stationary point at 3. x)=x*3 AROROE WoTY
1
(A) X=¢e (B) X=% (A) X=e (B) X=_g
©€) x=1 D) x=+e
C) x=1 D) x=+e
86. x+ 1%+ (y-~3%=64 TIBY reomDd
36. The maximum area of a rectangle 6:3_033355.3{ Bogderamn, © wobed
inscribed in the circle 71@_"@% DRYEEIFEY
x+1%+(y-32=64 is
(B) 172 sq. units (B) 172 sq. units
(C) 128 sq. units (C) 128 sq. ﬁnits
(D) 8sq. units
(D) 8 sq. units
37. dx is equal to 37. j T 2T Ao
1+eX _ 1+e*
e*+1 [e* 1)
(A) log, =— | +¢c (A)  log, = | i
€ e 2
X %=
B) log |2 = = (B) log,| > ——|| +¢
e L e
x [ eX
©) log.|—S|+¢ (C) log +c
B e* +1 ; e +1
e* e*
(D) log, e +c (D) log, =) +c
Space for Rough Work / 2,883 @O‘Siﬁ %%'3
Maths (14 - A)



dx is equal to

38.
J.JS 6x — 9x 2

A) gt [ﬁ’%l] i

(B) sin‘l[3xs+ 1) +c

©) % sm‘1(3%2+ 1) +c

D) sm_1[2x3+ 1] e

89. J.esmx. (smx Fl] dx is equalto
sec x

(A) sinx.efX4c
(B) cosx.eM¥ ¢
(C) eP*4c

D) X (sinx+1)+c

dx /B0 B3

o J‘ Bl e
|3 - 6x — 9x>

(A) sin_1(3x2+ 1) W
(B) sin‘l('gxf;r 1] +c

©) L sin~1 (——3x2+ 1) +c

3

(D) sin—1(2X3+ 1) +e

39. | esinx, [3BX*1] 50 33080
sec x
(A) sinx.e®™*ic
(B) cosx.e®*4¢

C) eBFic¢

D) e PX(sinx+1)+e¢

p) 2
40. j | x cos nx| dx is equal to 40. I |x cos mx| dx =
-9 -2
8 4 A 2 B 2
A - (B) - (A) = (B) ”
2 1 E D _1.
© = ® = © - o) -
Space for Rotigh Work / 2,882 S8 3¢
Maths (15=A)



1 1
41. J dx 4 equal to 41. I - ST
ex -+ e_x ex 3 e—X
0 0

X o _tan! KL |
&) - —tan™(e) &) o -tan”(e)
1.y T 1, 4T
(B) tan " (e) i (B) tan™ (e) - 1
(g4 B g B
(C) tan~"(e) + 1 (C) tan (e)-.g 1
D) tan"l(e) (D) tan~l(e)
g is
42, I : = is equal to 42 I dx 2
2 (lfx )\/l—lx ) (1',+x2)\/1‘—x2‘
1 —1‘\/5 1 172
A — t = s -1 <4
(A) - an > (A) e tan :
\ v 2, 43
®) % tan‘l(%) | ® Zum (E)
V2 _1(3)
©C) —t =
© g tan__l(;—) . 2
o ® 2 gt ﬁ}
o 32 tan‘l(ﬁ] = £k
2 2

| 48. y = cos x W§Bes3, x = 0, x = 1 MY
43. The area of the region bounded by the

curve y = cos X between x = 0 and x =  is @:’ogmd TBReBT Dyesory -
(A). 1sq. unit (B) 4 sq. units (A) 1sq.unit - (B) 438sq. units
(C) 2sq.units (D) 3 sq. units : (C) 2sq.units (D) 3sq.units.

Space for Rough Work / z.,dw E"O#% !{53%*
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44. The area bounded by the line y = x, x-axis | 44. y = x A0$3eS3, x- &7, x = -1 WA x = 2

and ordinates x =—-1 and x =2 1is 203 ejdg_)émd @Dﬁd Qyetdr
3

@a = 3
2 (A) 5
] 5

B ® 5

< 2 © 2

D) 3 D) 3

45. The degree and the order of the
2 ' 2
&231+(dy)2 5. 3 _gh (%] ©D803 AP

differential equation 2 I @
respectively are @))mw d)ég TEETD ﬁ)mmﬁ
(A) 2323
(A) 2and3
B) 3A2
(B) 3and2
(C) 23032
(C) 2 and 2 (D) 3 m&_ﬂ 3
(D) 3and3
46. xY _y - 3, 8 ©TWOZ aoeseey
46. The solution of the differential equation dx ,
x% -y=3 répresénts a family of TSVPROT B0EIDOW
~ )
(A) straight lines () o Dealriey
(B) circles (B) dﬁﬁ%ﬁo

(C) parabolas (C) TBI©onh

(D) ellipses (D) QePr Fned

Space for Rough Work / 2,883 %’OS@G :’gr’
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47. The integrating factor of gx—y +y

is
(A)

(B)

©

D)

Xe

Xe1/x

S o s
48. If |[ax b|“+| a. b|*=144 and

- rieaigil . -
| a| =4, then the valueof | b | is

@A)

©)

— .
49. If a and b are mutually perpendicular | 49.

1 ; B) 2

3 D) 4

unit vectors, then

- > -> -
Ba+2b).(5a =6b)=

_ 143 g,
X

48.

gx_y_ vy = 1Y wm8os aseddnd
X .

BDVVOT OBRIE IR

(A) xe*

B) xel®

© —

D)

-> > :
12+ a.b|? =144 R

| =4 esoon |T))| S Be3o3w
A 1 B) 2
) 3 D) 4

-

a @B b A ToAS oow oF

-0

308133, 3 8 +25). (5 8 —6 1) =

A) 5
A) 5
B) 3
(B) 3
C) 6
(C) 6
D) 12
D) 12 &)
Spqce for Rough Work / 2,383 %"Qﬁ% ,'!gu‘*
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° ) A A A A .l\ A A A A A A A
50. If the vectors ai +j+k, i+bj+k |50. i+j+k,i+bj+k DR
and i+ 3 + ck . are °  coplanar § 3 + ck ROBRe wode
(@#b#c#1), then the value of 23BoBOBSE (@ # b # ¢ # 1)
abc—(a+b+c)= e ’
abc—(a+b+c)=
Aa 2 A 2
B -2 B -2
© o
© o
D) -1
O -1
- A A A A A
= Ifd__) AN b _1_)) Ll ],; 1. a =1+ Aj+ 2k; - j-k
. 1I a=1+ + ; =ui + 7 - i , . .
y i 5 N . 00w QBTN | &3
are orthogox(;al and | a| = | b | then
ANE Lom=
1 7 1 7
A Ay (&2
@) [4 4J (&) [4 4]
: 7o
B S e @
® (¢ ® (7 3)
1 9
© |-, —) 1 9
4 4 C ==, 32
\ ©) [4, J
42 (_Tl %) -1 9
D) ==, 2
® (3.9
Space for Rough Work / 2.8 Goﬁit' 3
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52. The image of the point (1, 6, 3) in the line | g X _ y-1 _2z-2 Bea3cd® (1, 6, 3)
x_y-l_z-2 T2y &
1 2 3. WOTAT Vo)
A 1,0,7 A 1,0,7
(B) (7,0,1) ® @01
© 2,7,0 ©) ©,7,0
D) (-1,-6,-3) D) (-1,-6,-3)
53. The angle between the lines 2x = 3y = — z TS 2SR = = doég 6x =~y = -4z Sen¥
and 6x=-y=—4z is SBONS BRI
A) 0° A) 0°
(B) 45° B) 45°
(C) 90° (C) 90°
(D) 30° (D) 30°
54. The value of k such that the line |54 2x—4y+z=7 ARIOR e
x;4___y;2.=z;k lies on the plane x;4:y;2:z;k— Jes3o30 |wen
2x -4y +z="17 is k 3 233030
A -7 Aa -7
B) 4 B) 4
) -4 (C) -4
D 7 M 7
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55. The locus represented by xy + yz =0 is 55. xy+yz=0 &j@@@ﬁ)d P BSAHROHT

(A) a pair of perpendicular lines (A) 2,070 BRI ©ow Tesnsd
(B) & pair of parallel lines B) o> Bed IBR0IT Seadrish
(C) a pair of parallel planes (€) 20T 2R IBPOTT FRBOND

(D) 2,08 2R3 ©ow I03ONL

(D) a pair of perpendicular planes

56. The feasible region of an LPP is shown in | 56. 2333¢) LPP 03 eAWe* @deﬁdﬁqﬂ
the figure. If z = 3x + 9y, then the 30e0BPNG. 7 = 3x + 9y 030 ﬁ@a’%
* minimum value of z o it o ,
B2 el w3 oD BROOTE VTR

@A) 6,5)

A 5,95
B) (0,10) B) (0,10)
(©) (0,20) (C) (0,20)
(D) (15, 15) (D) (15, 15)

Space for Rough Work / 2,080 $0%§ R
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57. For the LPP; maximise z = x + 4y subject | 57. z=x + 4y 833% X+2y <2, x+2y > 8,
to the constraints x + 2y <2, x + 2y > 8, : ) L
M, X,y 2 0 dwozldnen Zo@u*wé%doé KO%

neYATON ahos
(A =4
A zp .. A) 1z, sad
B) Zrnax =8 (B) Zinax = S
(C) ) zmax o 16 (C) zmax =] 16
D) RWS BRORTRT ATYDY,
(D) Has no feasible solution
58. For the probability distribution given by 58. Q3o #ozﬁﬁé’beo@aa”oﬁo&gt NS0
BRBOONTS
s B B 1 2 X=x | o0 1 2
P, 23 8 il b 25 5 1
36 18 36 i 36 18 36
the standard deviation (o) is SN BRI8 DB () 00
1
A o
(A) 3 @ L
3
1/5
B) =.= 1/5
B =2
3V2 (B) 3132
5
©) — 5
C m—
36 © 36
(D) None of the above D) FeOF NI B
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59. A bag contains 17 tickets numbered from | 59. 200 e 1 dows 17 #o@%ﬁ%"d&
1to }117. A tli:ket i(si drawn athrandoml, then RRoODT 17 Weesned 9. @dd@m 2,03
another ticket is drawn without replacing
the first one. The probability that both wewojogbq ’mzsd?%?mﬂ e,  Fos3
the tickets may show even numbers is BRBOIe  Betd wBO BOBe  ATBIe

” 2ee30RR),  FriosoewNs. QOBO  23e83030
@ - Rooa)neR) EedRB RorEReosdod
8 A W
® @& 7
: 8
7 B) —
(o) BT 17
©) T )
o L
T o 16
D) —
e ® L
17
60. woTH WB OeXm) 10 z_mzsasaﬁﬁa’%

60. A flashlight has 10 batteries out of which BRoDH  ORINGO 4 JBermonGs
4 are dead. If 3 batteries are selected 2:)35&3871@353 A & Z:)D?SESGK%*&
without replacement and tested, then the e Sy ; sods m};
probability that all 3 are dead is vopne ROEAED 233&30

- AWEFTTONTOR ROLPRVCOIS
1
A) —
30 A) L
(A) 30
2
B) = 2
B 2
) (B) 3
" .
acd c) —
(©) e (&) 15
1
_ py L
D — D1
10
Space for Rodgh Work / 2,08 30%8 ¢
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